ar

Product
Specification
Positioning
Stages




<t

GMT GLOBAL INC.

uoleoljloadg jonpold

| www.gmtlinear.com

MX25-AC-18

MY25-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 25*25

Crossed Roller Stages (Feeding Screw Design) | 25*25

MX25-AS-

18

MY25-AS-18

Specification

Unit : mm
Movement . Allowable .
Table . Feed Travel Per Knob | Straightness q Weight . Surface
BN | s AXis | position | Stroke | Rotation | Accuracy L(zid;?g (kg) Material | ginish
(um) (Hm) 9
MX25-AC-18 Central
X-axis - 0.04
MXZSAS8 | s Side | i, 50 5 ] Aluminum | Black
MY25-AC-18 Central | alloy | anodized
XY-axis 0.08
MY25-AS-18 Side

MX25-AC-18 MX25-AS-18
10 10 10 10
[ 8-M2x0 4*5L. e 8-M2x0.4*5L
= =
= @@%@ & @@O@ ;
ch et 6 9 s ol
= . o (02 T— =8 5 @0 @ .
~ O T O ~
f@@@'@' @@@
-
[_% PS1RC-07 025 PSRG0T
L]
oo o o [H | ~ @@ Hf‘
= - = i
o oo [f \ o [©O©) o]
\ ( 48.68 ) | \ (37.93 )
| 20 | 4-@2.5*16L
@ &
O @)
S o o
MY25-AC-18 i = - : MY25-AS-18
- - > & _AS.-
100 MX(Y)25-A-18 .
B 7@ 8 -M2x0.4*5L Mounting Dimensions S P 8-M2x0.4*5L
; ﬂ%e 8—‘ B
= - © opF =<
- 3 _lleo O @
Pk c Blo . o8 -
g - [[e__8 e
- Lf— EE

(32)

30

O 0O 0O O
er mypsacis

g m
ol
]

1o o o

Mide 1 Totwn.

o

} ( 48.

68 )

30

PS1RC-07

<t

GMT GLOBAL INC.

uoneolyoadg jonpoud

£
o
e
©
(0}
£
E
o
=
S
S



uoneolyloadg jonpoud

| www.gmtlinear.com

<t

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 30*30

Crossed Roller Stages (Feeding Screw Design) | 30*30

MX30-AC-18

MY30-AC-18

Specification

MX30-AS-18

MY30-AS-18

MX30-AC-18

(37.77)

MX30-AS-18 ., o

M6x1.0
8-M2x0.4*5L

2 J

F-
© 5
o |ee 0o
<
A\ N\
© ©)
@ © O ‘

f

r—_‘ PS1RC-07
el
N oo o o [H })j‘\ﬁi
‘]_U o oo L[L] ‘\9
\ ( 54.66 ) |
E—
&) &)
O O @)
S O o]
O O O
MY30-AC-18
B (@]
12 12
‘ M6x1.0 MX(Y)30-A-18
@ 8-M2x0.4*5L Mounting Dimensions
L
g ) ) y S
EE =4
o©

PS1RC-07

G

0

1

Unit : mm
030
Movement ) Allowable )

Table . Feed Travel Per Knob |Straightness . Weight ] Surface

ModeliNo: Size s Position | Stroke Rotation Accuracy Lo:d;ng (kg) Material Finish
(um) (um) (kgf) s
MX30-AC-18 Central L
MX30-AS-18 AR 0045 d
A ide Aluminum|  Black o " C °

30*30 +3.2 50 3 1 ’ k@  wacs

MY30-AC-18 Central alloy | anodized Fo o o _LL
XY-axis 0.09

MY30-AS-18 Side \ ( 54.66 )

F—T PS1RC-07
— \
A I [clc)re=x
B 1|
Toeeey |
\ (41.41) |
4-02.5*16L
MY30-AS-18
M6x1.0
8-M2x0.4*5L
] N
- S
g I=IN
030
1
i |5
— °°0 PS1RC-07
[sp]

0 I

o

GMT GLOBAL INC.

0
=
o
(oF
=
(@)
~—
(%)
©
®
&)
=3
o
Q
=3
o
)

‘ www.gmtlinear.com




uoneolyloadg jonpoud

£
o
2
©
()
£
E
o
=
S
z

<t

GMT GLOBAL INC.

MX40-AC-18

MY40-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 40*40

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 40*40

Specification

MX40-AS-18

MY40-AS-18

Unit : mm
M t
Model No Table Axis Feed Travel Pc;vreg%% Straightness /}_Ilé):c/j?r?le Weight ErerE Surface
‘| Size Position | Stroke Rotation Accuracy kaf 9 (kg) Finish
(pm) (Hm) (kgf)
MX40-AC-18 Central
S X-axis s 2 0.14
MX40-AS-18 ide .
40*40 +6.5 50 3 Aluminum Bla_ck
MY40-AC-18 Central alloy anodized
XY-axis 1.8 0.30
MY40-AS-18 Side

MX40-AC-18 MX40-AS-18
1616 M6x1.0 1818 NSXMEQOS*GL
% |/ _8-M3x0.5%L — | '
| |
| e /& % y &
o e ®© 0 O | ©9
51 leo & @@ﬂE%%}ZE%L o oo @ e
- L = ) _
L (9 0.0 @Q - ©,®
(5—40_‘ PS1RC-13 FD—M)T PS1RC-13
——— 3 BUSIEEE
8 Gam MM—IEEZ g 8
e O 5 15 - ‘
(97.15 ) | 2 L) 2
S ©
4-$35
| 32 ‘ ©6*3.5L
© @
& O @
N e ©
& Q&
MY40-AC-18 & @ MY40-AS-18
MX(Y)40-A-18
16 16 M6x1.0 Mounting Dimensions 16 16 M6x1.0
i ‘ 8-M3x0.5*6L / 8-M3x0.5*6L
xﬁ \
© ‘
© _ o ]
@ e® % N
N i

(445)

PS1RC-13

PS1RC-13

40

<t

GMT GLOBAL INC.

uoneolyoadg jonpoud

£
o
e
©
(0}
£
E
o
=
S
S



uoleoljloadg jonpold

| www.gmtlinear.com

<t

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 50*50

MX50-AC-18

MY50-AC-18

MX50-AS-

MY50-AS-

18

18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 50*50

Specification

Unit : mm
Movement
et N Table Axis Feed Travel Per Knob |Straightness pﬂ'g;:,?: J Weight Material Surface
‘| Size Position | Stroke Rotation Accuracy i 9 (kg) Finish
(um) (um) (kgf)
MX50-AC-18 Central
MX50-AS-18 A 0-22
50-AS- ide .
50*50 46.5 50 3 4 Aluminum Bla_ck

MY50-AC-18 Central alloy anodized

XY-axis 0.44
MY50-AS-18 Side

MX50-AC-18

M6x1.0

8-M2x0.4*4L

MX50-AS-18

M6x1.0

|- 6-M3x0.5°6L — 6-M3x0.5*6L
@Sl ° a S
EYEER TR s
S o TS A\u_rr: & Q
& € |
G o b,
[_% PS1RC-13
S=SEEE 0 050 "
S Gor®  Cemsen N_Q:J_@U = 0 PS1RC-13
o © e ‘Tv =
| (106.17 ) |0 %[ ﬁ@ |
o
= 4-035 Bl OLO | 1
40 $6*3.5L ( 67.77 ) )
‘ ©
O o ©
S [5)
0 O ©
MY50-AC-18 @ & MY50-AS-18
20 20
MX(Y)50-A-18
Mounting Dimensions M6x1.0
8-M2x0.4*4L
=|= 6-M3x0.5*6L
o
NN
E =
& )
o 8
< —
IS
|
050
3 =) f@?
— i ) g v
- €
3% <

GMT GLOBAL INC.

8-M2x0.4*4L

<t

uoneolyoadg jonpoud

£
o
e
©
(0}
£
E
o
=
S
S




uoleolyloadg jonpold

£
o
2
©
()
£
E
o
=
S
z

<t

GMT GLOBAL INC.

MX60-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

GMT GLOBAL INC.

Crossed Roller Stages (Feeding Screw Design) | 60*60

Crossed Roller Stages (Feeding Screw Design) | 60*60

MX60-AS-18

MY60-AC-18

Specification

MY60-AS-18

Unit : mm
Movement Allowable
Table . Feed Travel Per Knob |Straightness ; Weight . Surface
e Size s Position | Stroke Rotation Accuracy Loid:‘ng (kg) UL Finish
(um) (um) (k)
MX60-AC-18 Central
MXB0-AS-18 A ° 025
-AS- ide i
60*60 +6.5 50 3 Aluminum )~ Black
MY60-AC-18 Central alloy | anodized
XY-axis 4.5 0.52
MY60-AS-18 Side

MX60-AC-18 MX60-AS-18
25 25
2 2 16 16 M16x1.0
16 | 16 M16x1.0 ‘ 4-M3x0.5
4 -M3x0.5 —|= 8-M4x0.7*8L
O ‘ 8-M4x0.7*8L
& @ g &
L ie.0 00 10, ® L/(ow )
| N o Il ] I © N
F Go Y- w_% = i @0 06
o o —
| o Z s 9
©°©® ©°0| ® ®
® o © Il © @@@ ©
[_—_DGO PS1RC-13
— —
o n
ST = LW | — S 060 PS1RC-13
| smemme200 00 O ‘T = | |
\ (117.68 ) \“.?‘ _ EEiElE
- [ — =
Ni\ 000 )0 | [
| (7878 ) | g‘
0 4-05
TS—T B8*aL
© &
6 o0 0 ©
3 ] o
O O 0 O
MY60-AC-18 MY60-AS-18
25 25 @ @
16_ 16 ‘ M16x1.0 MX(Y)60-A-18
— | gll\\ll/lf:g?*& Mounting Dimensions
M16x1.0
e © & 4-M3x0.5
) S ? 8-M4x0.7"8L
e Py i
L e @ o [EHFE
g« T2 o € 0 .
N 0© o O¢ ©
: LELT a
1T
]

(445 )

PS1RC-13

40

=)
©

uoneolyoadg jonpoud

£
o
e
©
(0}
£
E
o
=
S
S



uoleoljloadg jonpold

| www.gmtlinear.com

<t

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis ©

Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 70*70

MX70-AC-18

MX70-AS-18

MY70-AC-18

MY70-AS-18

Specification

Unit : mm
Movement Allowable

Table n Feed Travel Per Knob |Straightness . Weight n Surface

sl Mo AXis | pocition | Stroke | Rotation Ac(cura;cy L‘Zig;;’g ko) | Maerial | Eiien
(um) Hm
MX70-AC-18 Central
MX70-AS-18 X 0.44
AS- ide .

70*70 +6.5 50 3 6 Aluminum | Black

MY70-AC-18 reanis |_CEMTE 0.65 alloy | anodized
-axis .

MY70-AS-18 Side

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

GMT GLOBAL INC.

Crossed Roller Stages (Feeding Screw Design) | 70*70

MX70-AC-18 MX70-AS-18
30 30 30 30
20 | 20 20 | 20 _
15 | 15 M16x1.0x6L 15| 15 M16x1.0x6L
8-M3x0.5 8-M3x0.5
/| fAmax0.77eL —|—|-— 4 -M4x0.78L
& &
@ @ O
o .
o Do
o u[E o e R = R
5 = 2
— |ol® o W © — 8
o| N =
® . s —
@@ © © @@
‘ 070 ‘ PS1RC-13
= T
- 0 070 PS1RC-13
. For  °° ac = S
0O O © Ol ‘T . 7 [y
. \ [te) o ©
[ 126.18 ) o I e I =
- b 0 o (0)o(O I |
( 88.28 ) | Ln.‘
4-)5 ©
60 @ 8*4L
! \
o_© @
a o
o
©
(e} o
MY70-AC-18 (SHNe) o MY70-AS-18
. & @
20 | 20 MX(Y)70-A-18
15 15 M16x1.0x6L Mounting Dimensions 30 30
N 8-M3x0.5 20 | 20 _
/| /4-M4x0.778L 15 15_| | M16x1.0x6L
74 8-M3x0.5
‘é — e — 4-M4x0.7°8L
® c |0 ‘ g
8 o @
i i g © | =
— ol © ® o) == |
28 @ @ -
~ © oo % rg <*>.
o] o [} o
e o
[ [T
070 o70
|
—— - -
= ! &)\ B PS1RC-13 & ee ® PS1RC-13
[t} it . LS| o o o
[e] [o)e) [e]
- 0 o 0 0o % ‘f © ©° ) | \4%
(126.18 ) 2‘ \ [ 107.28 ) \g‘

uoneolyoadg jonpoud

£
o
e
©
(0}
£
E
o
=
S
S



<t

GMT GLOBAL INC.

uoneolyloadg 1onpold

| www.gmtlinear.com

MX80-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 80*80

MX80-AS-18

MY80-AC-18

Specification

MY80-AS-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 80*80

Unit : mm
Movement .
ModelNo.| 1301€ | e | Feed | Travel | ‘PerKnop |Straightness Nonting, | Weight Material | Surace
| Size Position | Stroke | Rotation | Accuracy 9 (kg) Finish
(pm) (pm) (kgf)
MX80-AC-18 Central
MX80-AS-18 A 10 0
-AS- ide )
80*80 +12.5 50 3 Aluminum Blac_:k
MY80-AC-18 Central alloy anodized
XY-axis 9.5 1
MY80-AS-18 Side

MX80-AC-18 MX80-AS-18
35 35
325 225 ‘ M16x1.0 25 25 M16x1.0
8 -M4x0.7*8L 8-M4x0.7*8L
- P ‘ ‘ 4-M4x0.776L S ) I ‘ ‘ 4-M4x0.776L
‘ g © ‘ @e’
9 /¢ ? 9 i
—
<+ & o IS B o &
> E o — = < o ®
21, o
w| N e ¢ = e el 9 5
@ & — ]
o ® o
FD—SO_‘ PS1RC-25
080 PS1RC-25
1 \ |
12 o o0l 11—
- 2 o 5 o0 o \@f@b;ﬂj—“:mgk
D { 118.03 ) \n‘
<
4-05
70 ©8%8.3L
|/
(@) &
O 0 ©
[} [}
o
=~
2] 2]
MY80-AC-18 6O O © MY80-AS-18
35 55 @ 9 = & M16x1.0
25 | 25 M16x1.0 x1.
| /7~ 8-Max0.7*8L MX(Y)80-A-18 & 2 8-M4x0.7*6L
| —& ‘ 4-M4x0.7*6L Mounting Dimensions S O PR N ‘ ‘ 4-M4x0.7*6L
s o) /8 s e
. @w a0 p lé
@ & ]
. &L = 2 ©
. o)
20 e o 2 B
0 3 ° ° ® Al [ ['C)]
N
@
il
|
080
; | |
—] PS1RC-25 A T = E
™ - AT I PS1RC-25
<9 ~ 2 o =
Ni o oo o H |
G0 0 0 0o ‘j
\ (170.95 ) |

\g‘

=

<t

GMT GLOBAL INC.

uoneolyoadg 1onpold

£
o
e
©
(0}
£
E
o
=
S
S



uoleoljloadg jonpold

<t

GMT GLOBAL INC.

MX100-AC-18

MY 100-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

<t

GMT GLOBAL INC.

Crossed Roller Stages (Feeding Screw Design) | 100*100

Crossed Roller Stages (Feeding Screw Design) | 100*100

Specification

MX100-AS-18

MY100-AS-18

Unit : mm
Movement Allowable
Table . Feed Travel Per Knob |Straightness - Weight . Surface
ModelNo.| g/ | AXIS | pogition | Stroke | Rotation | Accuracy "°§d;"g ko) | Mm@l | Eiien
(um) (Hm) (kaf)
MX100-AC-18 Central
s X-axis s 15 0.7
MX100-AS-18 ide .

100*100 +12.5 50 3 Aluminum - Black
MY100-AC-18 Central alloy | anodized
XY-axis 14.3 14

MY100-AS-18 Side

| www.gmtlinear.com

MX100-AC-18

45

MX100-AS-18

PS1RC-25

(1354 )

45 45

35 35

M16x1.5

16-M4x0.7*8L

25

35
45

90

55)
25
& o
—~ 9| ®©
< ¥ 3w o
e® .
Ko
0100
o]:‘
N
MY100-AC-18
45
&
[fo)
8l w
N
Yo}
le)
o
o
N

(443 )
40
.

MX(Y)100-A-18
Mounting Dimensions

PS1RC-25

(137.43 )

MY100-AS-18
45 45

35 | 35

25 | 25

M16x1.5

16-M4x0.7*8L

uoneolyoadg jonpoud

‘ www.gmtlinear.com



<t

GMT GLOBAL INC.

uoleoljloadg jonpold

| www.gmtlinear.com

MX120-AC-18

MY120-AC-18

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 120*120

MX120-AS-18

MY120-AS-18

Specification

Unit : mm
Movement
Model No Table Axis Feed Travel Per Knob |Straightness AI‘_":;’L?:Ie Weight Material Surface
| Size Position | Stroke | Rotation | Accuracy 91 (k) Finish
(Hm) (Hm) (kgf)
MX120-AC-18 Central
MX120-AS-18 X s 20 e
-AS- ide .
120120 +12.5 50 3 Aluminum | Black
MY120-AC-18 Central alloy anodized
XY-axis 18.4 3.2
MY120-AS-18 Side

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 120*120

<t

GMT GLOBAL INC.

MX120-AC-18 MX120-AS-18
50 50 50 50
45 | 45 45 | 45
35 | 35 35| 35
25|25 20-M4x0.7 25|25 20-M4x0.7
e .
o8 @ R R
il I KA O
= 0| 9|8l : e, e e el g3
; A @ '%} — El%» z 3 @ N
= o gl & o v o & vl o
3 <« . o o - ® 22
B 0 g
0120 PS1RC-25 0120 SREs
=] o
© ™
0|
N
™
- 4-05
100 @8*4.5L
® g
[6] [6] [6]
o F G
o
MY120-AC-18 % MY120-AS-18
50 __ 50 MX(Y)120-A-18 S0 . S0
45 | 45 Mounting Dimensions e
35| 35 351935
25|25 20-M4x0.7 25|25 20-M4x0.7
e
Ie | s _
8 g g o = e e S 7(“3‘— g Q 3
N * 3 o © =
@ vl @ a (v’\) s e o | g Vo
B B < - o * Nl
N . !
N
N
0120 0120
— PS1RC-25 =
[T} - 9 PS1RC-25
e - 3 |
= —— | I = g}
( 213.18 ) |2 \ ( 185.98 | of

=

uoneolyoadg jonpoud

£
o
e
©
(0}
£
E
o
=
S
S





